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General Instructions to Candidates. 

• There is a ‘Cool off time’ of 15 minutes in addition to the writing time. 

• Use the ‘Cool of time’ to get familiar with questions and to plan your answers  

• Read questions carefully before answering. 

• Read the instructions carefully. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. 

• Electronic devices except non programmable calculators are not allowed  

in the examination hall. 

വിദ്യാർത്ഥികൾക്കുള്ളപ ാതുനിർദ്ദേശങ്ങൾ 

• നിർദ്ദിഷ്ടസമയത്തിന്പുറമമ 15 മിനിട്ടു ‘കൂൾഓഫ്്ടൈം’ഉണ്ടായിരിക്ുൈം 

• ‘കൂൾഓഫ്്ടൈം’ചചാദ്യങ്ങൾപരിചയമെടാനുൈംഉത്തരങ്ങൾആസൂത്രണൈം 

മചയ്യാനുൈംഉപചയാഗിക്ുക 

• ഉത്തരങ്ങൾഎഴുരുന്നരിനുമുമ്്ചചാദ്യങ്ങൾത്രദ്ധാപൂർവ്വൈംവായിക്ണൈം 

• നിർചദ്ദരങ്ങൾമുഴുവനുൈംത്രദ്ധാപൂർവ്വൈംവായിക്ണൈം 

• കണക്ുകൂട്ടലുകൾ, ചിത്രങ്ങൾ , ത്ഗാഫുകൾഎന്നിവഉത്തരക്ടലാസിൽ 

രമന്നഉണ്ടായിരിക്ണൈം 

• ചചാദ്യങ്ങൾമലയാളത്തിലുൈംനൽകിയിട്ടുണ്്ട 

• ആവരയമുള്ളസ്ഥലത്തുസമവാകയങ്ങൾമകാടുക്ണൈം 

• ചത്പാത്ഗാമുകൾമചയ്യാനാകാത്തകാൽക്ുചലറ്ററുകൾഒഴിമകയുള്ളഒരു 

ഇലക്ചത്ടാണിക്ഉപകരണവുൈംപരീക്ഷഹാളിൽഉപചയാഗിക്ുവാൻപാടുള്ളരല്ല 

 

 

 

 

 

 



 

Answer any 10 questions from 1 to 12. Each question carries one score. 

                                                                                                                           (10x1=10) 

1.The famous book ‘The General theory of employment interest and money’ was written by 

(Adam Smith, David Ricardo, J.M.Keynes, Alfred Marshall) 

2.MPC = ----  

(C/Y, S/ Y, ∆C/ ∆Y, ∆S/ ∆Y) 

3.Flexible exchange rate system is also known as -------- 

4.Which of the following is not a feature of capitalist economy? 

(Profit motive, Planning mechanism, Private ownership, Price mechanism) 

5.The cost curve which is a rectangular hyperbola is 

(ATC, AFC, TFC, AVC) 

6.Ex Ante values are called ------- 

7.Shut down point is the minimum of --------- 

 (AVC, MC, AFC, ATC) 

8.Indifference curve approach is the contribution of------- 

9.GVA - Depreciation is called ------- 

10.The highest authority in the monetary system of a country is---------- 

11.Microeconomics is also known as  

(General theory, Price theory, Income theory) 

12.Elasticity in a rectangular hyperbola is ---- 

 (0, 1, > 1, <1) 

Answer any 5 questions from 13-18. Each question carries 2 score. 

                                                                                                                           (5x2=10) 

13.Write the features of indifference curves. 

14.Qd=80 - 2 P 

Qs = 60 + 2 PFind the equilibrium price and equilibrium quantity. 

15.Distinguish between stocks and flows. 

16.Write the limitations of barter system. 

17.If MPC = 0.5 , calculate investment multiplier. 

18.Define paradox of thrift. 

 



1 മുതൽ12 വരെയുള്ള ച ോദ്യങ്ങൾക്്ക ഏരതങ്കിലുും പരെണ്ണെിന് ഉെെും 

എഴുതുക. ഓചെോ ച ോദ്യെിനുും ഒെു മോർക്ക് വീതും   (10x1=10) 

1''ദ ജനറൽതിയറി ഓഫ് എംപ്ലോയ്മെൻറ് ഇന്ററസ്്റ്റ ആൻഡ് െണി ''എന്ന പ്രശസ്തെോയ പ്രന്ഥം 

എഴുതിയത് ആര ്? 

( ആഡംസ്മിത്്ത,പ്ഡവിഡറ്ിക്കോർപ്ഡോ , J.Mമെയിൻസ,്   ആൽപ്ഫഡ് െോർഷൽ  ) 

2.MPC = ----  

 (C/Y, S/ Y, ∆C/ ∆Y, ∆S/ ∆Y) 

3.അയഞ്ഞ വിനിെയ നിരക്ക്  സപ്രദോയം അറിയമെടുന്ന െമറോരു പ്രമരന്ത് ? 

4.തോമഴെറയുന്നവയിൽ െുതലോളിത്ത സരദ്യവസ്ഥയുമട സവിപ്ശഷത അല്ലോത്തത്ഏത് ? 

  (ആസൂപ്തിതസംവിധോനം, ലോപ്േച്ഛ, സ്െോരയസ്ത്്ത, വിലസംവിധോനം) 

5.-------മറകോ്ംരുലർ ഹൈെർപ് ോള ആെൃതി വരുന്ന പ്െോസ്റ്റ് വപ്െം  ഏത് ? 

(ATC, AFC, TFC, AVC) 

6.ആസൂപ്തിത െൂലയത്തിന്മറ െമറോരു പ്രമരന്ത് ? 

7.അടച്ചിടൽ ിന്ദു ഏത്  വപ്െത്തിന്മറ െിനിെംആെുന്നു ? 

(AVC, MC, AFC, ATC) 

8.നിസ്സംരതോവപ്െം ആരുമട സംേോവനആെുന്നു ? 

9. GVA- പ്തയ്മോനം = ----------- 

10.ഒരു രോജയത്തിൻമറ നോണയവയവസ്ഥയുമട രരപ്െോന്നത അധിെോരി----------ആെുന്നു  . 

11.സൂക്ഷ്മ സോരത്തിെ ശോസ്പ്തത്തിൻമറ െമറോരു പ്രര?് 

  (ജനറൽസിദ്ധോന്തം,വിലസിദ്ധോന്തം,വരുെോനസിദ്ധോന്തം) 

12.മറകോ്ംരുലർ ഹൈെർപ് ോളയുമട വി ലഇലോസ്തിെത --------- 

(0, 1, > 1, <1) 

13 മുതൽ 18 വരെയുള്ളച ോദ്യങ്ങൾക്്ക ഏരതങ്കിലുും അരെണ്ണെിന ്

ഉെെും എഴുതുക. ഓചെോ ച ോദ്യെിനുും 2 മോർക്ക ്വീതും            (5x2=10) 

13.നിസംരത വപ്െത്തിന്മറ സവിപ്ശഷതെൾ എമന്തല്ലോം ? 

14.Qd=80 - 2 P 

Qs = 60 + 2 Pസന്തുലിതവിലയും സന്തുലിത അളവും െണ്ടുരിടിക്കുെ. 

15.പ്ശഖരവുംപ്രവോൈവുംപ്വർതിരിച്ച്എഴുതുെ. 

16. ോർട്ടർസപ്രദോയത്തിന്മറപ്രോരോയ്മെൾഎഴുതുെ. 

17.MPC = 0.5 ആമണങ്കിൽ നിപ്േരരുണെം െോണുെ. 

18.സരോദയത്തിനമ്റ വിപ്രോധോേോസം വയക്തെോക്കുെ. 

 

 

 



Answer any 6 questions from 19 to 25. Each question carries 3 score(6x3=18) 

19. Distinguish between capitalism and socialism. 

20. Explain the factors determining the supply of a commodity. 

21. Write a short note on three linkages in international market. 

22. Explain the objectives of government budget. 

23. Explain the background of emergence of macro economics. 

24. Explain liquidity trap with the help of diagram. 

25. Diagrammatically explain the circular flow of income in a two sector model. 

Answer any 4 questions from 26 to 30. Each question carries 4 scores. 

(4x4=16) 

26. Distinguish between flexible and fixed exchange rate system. 

27. GDP is not an exact measure of welfare. Do you agree? Why? 

28. Define price elasticity of demand. Calculate price elasticity of demand for the following 

data. 

Price Quantity demanded 

50 40 

60 20 

29. Write a short note on returns to scale. 

30. Diagrammatically illustrate the impact of price ceiling and price floor on market 

equilibrium. 

Answer any 2 questions from 31 to 33. Each question carries 5 scores. 

(2x5=10) 

31. Diagrammatically explain the profit maximization conditions of a firm under perfect 
competition. 

32. Explain the monetary policy instruments adopted by RBI to control money supply. 

33. Briefly explain the components of government budget. 

Answer any 2 questions from 34 to 36. Each question carries 8 scores. 

(2x8=16) 

34. The following table gives the TC schedule of a firm. It is also given that AFC at 4th unit of 
output is Rs 5. Find TVC, TFC, AVC, AFC, SAC and SMC. 

UNITS OF 
OUTPUT 

1 2 3 4 5 6 

TC 50 65 75 95 130 185 

Draw AC and MC curves in the same graph. 



19 മുതൽ 25 വരെയുള്ള ച ോദ്യങ്ങൾക്ക് ഏരതങ്കിലുും ആരെണ്ണെിന് ഉെെും 

എഴുതുക. ഓചെോ ച ോദ്യെിനുും 3 മോർക്ക് വീതും   .(6x3=18) 

19.െുതലോളിത്ത സരദ്  വയവസ്ഥയും  പ്സോഷയലിസവും തമ്മിലുള്ളവയ തയോസങ്ങൾ എഴുതുെ. 

20.ഒരു സോധനത്തിന്മറ പ്രദോനമത്ത നിയപ്ന്തിക്കുന്ന ഘടെങ്ങൾ ഏമതല്ലോം ? 

21.അന്തോരോഷ്പ്ട വിരണിയിമല െൂന്്ന  ലിപ്ങ്കജസ്  എഴുതുെ. 

22.രവൺമെൻറ് ഡ്ജറിന്മറ ലേയങ്ങൾ എമന്തല്ലോം ? 

23.സ്ഥൂല സോരത്തിെ ശോസ്പ്തത്തിന്മറ ഉത്ഭവത്തിനമ്റ രശ്ചോത്തലം വിവരിക്കുെ. 

24.പ്ദവത്ോേിലോഷമെണി ചിപ്തത്തിൻമറ സൈോയപ്ത്തോമട വയക്തെോക്കുെ. 

25.വരുെോനത്തിന്മറ ചോപ്െിെപ്രവോൈം പ്രോഫിന്മറ സൈോയപ്ത്തോമട വിവരിക്കുെ 

26 മുതൽ 30 വരെയുള്ള ച ോദ്യങ്ങൾക്ക് ഏരതങ്കിലുും നോരലണ്ണെിന് ഉെെും 

എഴുതുക. ഓചെോ ച ോദ്യെിനുും 4 മോർക്ക് വീതും   4x4=16) 

26.സ്ഥിരവിനിെയനിരക്കും അയവുള്ള വിനിെയനിരക്കും തമ്മിലുള്ള വയതയോസങ്ങൾ എഴുതുെ. 

27.GDPപ്േെം അളക്കുന്നതിനുള്ള ഏെെോനദണ്ഡെോയി നിങ്ങൾ െരുതുന്നുപ്ണ്ടോ ?  എന്തുമെോണ്്ട ? 

28.വില ഇലോസ്തിെത നിർവചിക്കുെ.വിലഇലോസ്തിെത െണ്ടുരിടിക്കുെ. 

വില പ്ചോദനം 

50 40 

60 20 

29.പ്തോതനുസരിച്ചുള്ള പ്രതയയം ചുരുക്കി എഴുതുെ. 

30.തറവിലയും തോങ്ങുവിലയും ചിപ്തത്തിൻമറ സൈോയപ്ത്തോമട വിശദീെരിക്കുെ. 

31 മുതൽ 33 വരെയുള്ള ച ോദ്യങ്ങൾക്ക് ഏരതങ്കിലുും െരെണ്ണെിന് ഉെെും 

എഴുതുക. ഓചെോ ച ോദ്യെിനുും 5 മോർക്ക് വീതും   .(2x5=10) 

31.സരൂർണ്ണ െിടെത്സരത്തിൽ ലോേംരരെോവധിയിൽ എത്തുന്ന വയവസ്ഥെൾ ചിപ്തത്തിൻമറ 

സൈോയപ്ത്തോമട വിശദീെരിക്കുെ. 

32.രണപ്രദോനം നിയപ്ന്തിക്കോൻ റിസർവ് ോങ്കസ്്ീെരിച്ചിട്ടുള്ള രണനയം വിശദീെരിക്കുെ. 

33.രവൺമെൻറ് ഡ്ജറിന്മറ ഘടെങ്ങൾ വയക്തെോക്കുെ. 

34 മുതൽ 36 വരെയുള്ള ച ോദ്യങ്ങൾക്ക് ഏരതങ്കിലുും  െരെണ്ണെിന് ഉെെും 

എഴുതുക.  ഓചെോ ച ോദ്യെിനുും 5 മോർക്ക് വീതും   (2x8=16) 

34.TC രട്ടിെ തന്നിരിക്കുന്നു .നോലോെമത്ത യൂണിറിൽ AFC 5രൂര ആെുന്നു. എന്നോൽ 

TVC ,TFC,AVC,AFC,SAC,SMC ഇവ െോണുെ. 

UNITS OF 
OUTPUT 

1 2 3 4 5 6 

TC 50 65 75 95 130 185 

ഒപ്ര പ്രോഫിൽ AC വപ്െവും MC വപ്െവും വരയക്്കുെ. 

 

 

 



 

35. Mr Vinod wants to consume two goods. The prices of the two goods are Rs 4 and Rs 5     

   respectively. If the money income is Rs 20, answer the following questions. 

  a) Write the equation of the budget line. 

  b) Find the slope of the budget line. 

  c) Find the horizontal and vertical intercept. 

  d) Explain optimum level of consumer (consumer's equilibrium) with suitable diagram. 

36. Explain the product method and expenditure method of calculating GDP. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

35.വിപ്നോദ ്4രൂരയും5രൂരയുംവിലയുള്ളരണ്്ടസോധനങ്ങൾവോങ്ങുന്നു .വരുെോനം20 
രൂരയോമണങ്കിൽതോമഴെറയുന്നപ്ചോദയങ്ങൾക്ക്ഉത്തരംഎഴുതുെ. 

a) ഡ്ജറഹ്ലനിന്മറസൂപ്തവോെയംഎഴുതുെ. 

 b) ജറഹ്ലനിന്മറചരിവെ്മണ്ടത്തുെ.  

c)മൈോറിപ്സോണ്ടൽഇൻറർമസരറ്്,മവർട്ടിക്കൽഇൻറർമസരറ്ഇ്വെമണ്ടത്തുെ. 

d)ഉരപ്േോക്തൃസന്തുലിതോവസ്ഥചിപ്തത്തിൻമറസൈോയപ്ത്തോമടവയക്തെോക്കുെ. 

 

36.ഉൽരന്നരീതിയുംമചലപ്വീതിയുംഉരപ്യോരിച്ചജ്ിഡിരിെണ്ടുരിടിക്കുന്നവിധംവിശദെോക്കുെ. 
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